


𝒙 − 𝒕

高さ𝒙 [m]

時間𝒕 [秒]
0秒後 2秒後 3秒後1秒後



𝑥 − 𝑡

0秒後 2秒後 3秒後1秒後

位置𝒙 [m]

時間𝒕 [秒]

𝟏𝒎

𝟐𝒎

𝟑𝒎

𝟒𝒎



𝑥 − 𝑡

0秒後 2秒後 3秒後1秒後

位置𝒙 [m]

時間𝒕 [秒]

𝟏𝒎

𝟐𝒎

𝟑𝒎

𝟒𝒎

𝟎𝒎





•

•

•

3𝑥 − 5 = 7

=

=

𝑥 = (𝑥 )

=

=

𝑥 =



𝑥 2 𝑓 2 =

𝑥 3 𝑓 3 =

𝑥 𝑎 𝑓 𝑎 =

𝑥 2𝑥 𝑓 2𝑥 =

𝑓 𝑥 = 2𝑥2 + 7𝑥 + 3𝑦 − 4𝑡 + 5



𝑥 2 𝑓 2 =

𝑥 𝑡 𝑓 𝑡 =

𝑥 𝑥 + ∆𝑥 𝑓 𝑥 + ∆𝑥 =

𝑓 𝑥 =
1

2
𝑔𝑥2 + 𝑣0𝑥



：𝑓 𝑥, 𝑦 = 2𝑥2 + 3𝑦2 + 2𝑥𝑦 − 3
𝑥 1 𝑦 2 𝑓 1,2 =

𝑥 2 𝑦 3 𝑓 2,3 =

𝑥 2𝑥 𝑦 3𝑡 𝑓 2𝑥, 3𝑡 =



𝑓 𝑥 = 2𝑥

𝑥
𝑓 𝑥

入力𝒙

出力𝑓(𝑥)

𝑥 𝑓 𝑥



入力𝒙

出力𝑓(𝑥)

𝑓 𝑥 = 2𝑥 − 2

参考：𝑓 𝑥 = 2𝑥
の直線



入力𝒙

出力𝑓(𝑥)

𝑓 𝑥 = 3𝑥 + 1



𝑓 𝑥 = 𝑎𝑥 + 𝑏

入力𝒙

出力𝑓(𝑥)



𝑓 𝑥 = 𝑎𝑥 + 𝑏

B(𝑥2, 𝑦2)

𝐴(𝑥1, 𝑦1)

𝐴(𝑥1, 𝑦1) 𝐵(𝑥2, 𝑦2)

𝐴𝐵 𝑎, 𝑏



𝑦1 =
𝑦2−𝑦1

𝑥2−𝑥1
𝑥1 + 𝑏 𝑏

= 𝑏



𝑓 𝑥 =
𝑦2 − 𝑦1

𝑥2 − 𝑥1
𝑥 +

𝑥2𝑦1 − 𝑦2𝑥1

𝑥2 − 𝑥1

𝒚

𝒙

B 𝑥2, 𝑦2 = (3,6)

𝐴 𝑥1, 𝑦1 = (0,0)

𝑓 𝑥 = 2𝑥

𝐴 𝑥1, 𝑦1 = 0,0 , 𝐵 𝑥2, 𝑦2 = (3,6)



𝑦 = 𝑓 𝑥, 𝑎, 𝑏 = 𝑎𝑥 + 𝑏
𝑥𝑦 𝑎𝑦 𝑏𝑦

𝑥𝑦

入力𝒂

出力𝑦 = 𝑓(𝑥, 𝑎, 𝑏)

入力𝒙

出力𝑦 = 𝑓(𝑥, 𝑎, 𝑏)

𝑏

入力𝒃

出力𝑦 = 𝑓(𝑥, 𝑎, 𝑏)

傾き𝑎



𝑓 𝑥 = 𝑎𝑥 + 𝑏

𝑎

1

1𝑏



𝑓 −𝑥
𝑓 −𝑥
𝑓 𝑥 = 2𝑥 + 1

𝑓 𝑥 = 2𝑥 + 1
𝑓 −𝑥 = 2 −𝑥 + 1
𝑓 −𝑥 = −2𝑥 + 1

0

𝑦

𝑥



𝑓 𝐴𝑥
𝑓 𝐴𝑥
𝑓 𝑥 = 2𝑥 + 1

𝑓 𝑥 = 2𝑥 + 1
𝑓 𝐴𝑥 = 2𝐴𝑥 + 1

𝐴
1

2

𝑓 𝐴𝑥 = 𝑓
1

2
𝑥 = 2 ×

1

2
× 𝑥 + 1 = 𝑥 + 1

0

𝑦

𝑥



𝑥 − 𝑡 𝑣 − 𝑡

0秒後 2秒後 3秒後1秒後

位置𝒙 [m]

時間𝒕 [秒]

𝟏𝒎

𝟐𝒎

𝟑𝒎

𝟒𝒎

𝟎𝒎

0秒後 2秒後 3秒後1秒後

速度𝒗 [m/s]

時間𝒕 [秒]

−𝟏𝒎/𝒔

𝟎𝒎/𝒔

𝟏𝒎/𝒔

𝟐𝒎/𝒔

−𝟐𝒎/𝒔

𝑥 − 𝑡図に
𝑣 − 𝑡図

𝑥 − 𝑡図

𝑣
𝑣 − 𝑡図



𝑥 − 𝑡

𝑥 − 𝑡

∆𝑥 ÷ ∆𝑡

𝑥 𝑡 = 𝑣𝑡 + 𝑥0

𝑥 − 𝑡 𝑣 − 𝑡


